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: 2. M is the midpoint of a side ofrectangle PQRS. QT =9, TR =7, SR = 24, -
Findthe perimeter of AMST. 12 4 B
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/L;. Given FDCGis a rectangle. E isthe midpointof FD. CD =3, CE=5, BC=06, AG=17. \
Find the penmeter of AABG.
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5. Jasonwalks 3 miles north, 10 miles east, 4 miles north and 14 miles east. ]
How far is he from his starting point?
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5. Jasonwalks 3 miles north, 10 miles east, 4 miles north and 14 miles east.
How far is he from his startlng point?
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G Find the penmeter of an isosceles trapezoid whose congruentsidesare each 15, whose heightis
9 and whose smallerbase is 10.
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